EARAROBREBRT —5 XN—ZXBISH—F

20224638278 (B) 2@FR#2H

Els>%4mr 1BISZ 8

‘(fﬁ} W ‘I%EH?’JF&] ~ | 5 1800 7m

[AXE%) 1 %&:7,700,000  ~ 23#&:3,100,000 W  337%:1,900,000 § 4 3#&:1,200,000  ~ 5 & :770,000
B RS RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
— v N B S= : -2-2- HFEIE
117l g | 75vvnO—2 T 5 | B 1.(5_2).4 2222 | 37.4| 95.4 | 2 zzg)z ggémx}ﬁx &R
RIN=YITSA4 B:Yy—TJULy 7Y N pEbuke
_ TN 4 5 | ERHEI—ER 1:52.7 9-9-9-7 |37.0| 92.6 | 9 478 | IIFEE (RHR)
2171 9 A0—HV 57.0 %) (-g) |dcATFL—ER
RIAN=ZVIHR—L B:ehlATvEX SRS IR
» i~ I ZEF N : -4-4- PR (=R
3 7| 2ZAEDY [B] o4 10z 1(55/24)9 4-4-4-4 | 37.7| 90.9 | 5 E(?J? 5 B (€3-9)
R:IVh—0 BIV=ZF—35 T s
— H o4 | BEET 1:53.0 8-8-8-7 |37.4| 89.9 | 4 | 474 |EHEZEE (FEF)
41101 |VAMJUTAY 57.0 (3/4) (-4) | AR
R:OUI(9—2 B:LAvk—0O—R Ems
==\~ MAAHE : -6-7- BR (FERN)
5 3 NASTNYI— B4 A 1(.35/34)2 6-6-7-6 | 37.8| 88.2 | 1 ig? DR
RiXAYIAVTLYY BIIRTAZRILN BT 7— L
3 =__ 3 s 4 | FIHEZ 1:53.2 3-3-3-3 [38.1]88.3| 7 486 | H/AZEE (RHR)
618111 B/ RIAT—Y 57.0 N\F) (+4) JREE]
RiF4RIU—brFrvv s B:I9H/Fa—N AV e ]
os BERA : -1-1- THIEE (=R
W 4 oLy RyUDR # 5 | B 1(55/34)3 1-1-1-1 | 38.4| 87.5| 8 (5+418) ToRe ERR)
R:JOUFPR/7 B:=H T s
34— O 5 | EHE 1:53.6 11-11-9-10 | 37.9 | 84.6 | 10 | 480 |AR—E &X)
N PICEOER R, "3 50 5 o |3TEE &)
RiFXF B:yvv—RYEVR Chig 5
<o — B4 | SHEA 1:53.9 10-10-4-4 | 38.6 | 82.3 | 3 500 |MiAFE (RR)
9|8/10 B¥YRAT—51h 57.0 (1) e | EERHVILT
RiF4—=FAVNT~ B:FANTFYRIAVEIR /=Y ITr—1L
3 4 4 | FERH 1:54.1 6-6-4-7 |38.7| 80.6 | 6 486 | EEER (RF)
EH 6 IH/Fa—lb 57.0 (112 2 |\ KRS
R:F4RATU—rFvy b~ B:7LUFIN BREMIBI A/ T 7— L
~ ) =551, 4 | EREN 1:58.2 4-4-9-11 | 42.0| 52.5 | 11 520 | WEFIIR (3RER)
nlsls | 1¥775Ly 57— * AR (5 o | # mEK—2057
RALVYISvIEIL BEVIAL ML ot %8R
[ BN
En'y 50.0-37.5
NOYIA L | 12.8-11.4-13.4-12.5-12.3-12.5-12.2-12.3-13.0
@ 11— —BBIEIL
13—7F— 4,8,11(,7) (3,6)-1,9,10-2
20— — 4,8,11(5,7) (3,6)-1,9,10,2
Ja=zr= 4,8,11(7,6,10)3,1(5,2,9)
40—F— (+4,8)11(7,10)3(6,1,9) 2=5
0 ILRE
BB 8 390 JA R 8-9 1,150/ & 7-7 3,030 3EE 7-8-9 8,070
B B 8 170H 7-8 730/ o 18 8-9 3,070H 3Es 8-9-7 34,070H
9 3704 7-9 2,010 oS- 8-9 4,430/
7 270

ABIC OV TRUTEREERRODDZE. THRIIZEL.




